SE1.29p, <14, -1.0<cos(2q"-2phi)<-0.8, 20-60 Cent SE 129 <14, -0.8<cos(2q"-2phi)<-0.6, 2060 Cent SE12<p_<14, -0.6<cos(2q?-20h)<-0.4, 20-60 Cent SE12¢p_ <14, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE12¢p_ <14, -0.25c05(2¢2phi)<0.0, 20-60 Cent
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SE L4<p <16, -1.0<cos(2q"-2phi)<-0.8, 20-60 Cent SE La<p_ <16, -0.8<cos(2q"-2ph)<-0.6, 20-60 Cent
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SE La<p, <16, -0.6<cos(2q’-2phi)<-0.4, 20-60 Cent SE1acp_ <16, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE14<p_ <16, -0.25c05(2¢2phi)<0.0, 20-60 Cent
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SE 16, <18, -1.0<cos(2q"-2phi)<-0.8, 20-60 Cent SE 16 <18, -0.8<cos(2q"-2ph)<-0.6, 20-60 Cent SE16<p, <18, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE16<p, <18, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE16<p <18, -0.25c05(2¢-2phi)<0.0, 20-60 Cent
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SE L6, <18, 0.4<cos(29"-2phi)<0.5, 20-60 Cent SE L6<p, <18, 0.6<cos(24" 2phi)<0.8, 20-60 Cent




SE 18<p <20, -1.0<cos(2q"-2phi)<-0.8, 20-60 Cent
T

SE 18 <2.0, -0.8<cos(2q"-2ph)<-0.6, 20-60 Cent
™

SE 18<p, <20, -0.6<cos(2q’-2phi)<-0.4, 20-60 Cent SE 18<p, <20, -0.4<cos(2q’-2phi)<-0.2, 20-60 Cent SE 18 <2.0, -0.25c05(2¢2ph)<0.0, 20-60 Cent
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SE20<p, <22, -10<cos(2q"-2phi)<-0.8, 20-60 Cent SE20<p <22, -0.8<cos(2q-2ph)<-0.6, 2060 Cent SE20<p, <22, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE20<p, <22, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE20<p, <22, -0.25c05(2¢-2phi)<0.0, 20-60 Cent
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SE224p <24, -10<CoS(2¢" 2ph)<-0.6, 20.60 Cent

SE229p <24, -0.8<cos(2q-2phi)<-0.6, 2060 Cent SE22<p <24, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE22¢p_ <24, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE22¢p_ <2.4,-0.25c05(24-2phi)<0.0, 20-60 Cent
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SE24<p <256, -10<cos(2q"-2phi)<-0.8, 20-60 Cent SE24<p <256, -0.8<cos(2q2phi)<-0.6, 2060 Cent SE2.4p, <26, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE24<p_ <256, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE24<p_ <26, -0.25c05(24-2phi)<0.0, 20-60 Cent
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SE2.4<p, <2.6,0.6<cos(24"2phi)<0.8, 20-60 Cent




SE 26, <28, -10<cos(2q"-2phi)<-0.8, 20-60 Cent SE 26 <28, -0.8<cos(2q"-2phi)<-0.6, 2060 Cent SE26p, <28, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE26<p, <28, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE26<p <28, -0.25c05(2¢-2phi)<0.0, 20-60 Cent
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SE 28 <30, -10<cos(2q"-2phi)<-0.8, 20-60 Cent SE28< <30, -0.8<cos(2q"-2phi)<-0.6, 2060 Cent SE28<p, <30, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE28<p_ <30, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE28<p_ <30, -0.25c05(2¢-2phi)<0.0, 20-60 Cent
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SE 30, <34, -10<cos(2q"-2phi)<-0.8, 20-60 Cent SE30%p <34, -0.8<cos(2q-2phi)<-0.6, 2060 Cent SE30<p, <34, -0.6<cos(2gr-2phi)<-0.4, 20-60 Cent SE30<p, <34, -0.4<cos(2gr-2phi)<-0.2, 20-60 Cent SE30<p <3.4,-0.25c05(24-2phi)<0.0, 20-60 Cent
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SE3.4<p_ <35, 1.0<cos(2¢" 2ph)<-0.6, 20.60 Cent

SE3.4<p, <35, -0.8<cos(2g" 2phi)<-0.6, 2060 Cent

SE3.4<p,_ <3.9,-0.6<C0s(2¢" 2ph)<-0.4, 20:60 Cent

SE3.4<p <35, -0.4<cos(2¢’ 2phi)<-0.2, 2060 Cent

SE34<p, <35, -0.2<cos(29" 2ph)<0.0, 20-60 Cent

SE3.4<p, <38, 0.0<cos(24" 2phi)<0.2. 20-60 Cent

SE3.4cp_ <38, 02<c05(2¢"-2phi)<0.4, 20-60 Cent
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SE38<p <42, -0.4<cos(2¢" 2ph)<-0.2, 20.60 Cent

SE38<p <42, 0.2<cos(29" 2ph)<0.0, 20-60 Cent

SE Q8 <42,-10<cos(2g" 2908, 2060 Cent SE38<p, <4.2,-0.8<cos(2¢" 29M)<-0.5, 20:60 Cent SE38cp, <42,-0<cos(2g" Zph)0.4, 2080 Cent
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SE38<p <4.2.0. D<cos(2¢"-2phi)<0.2, 20-60 Cent
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